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0% 1,599 1,533 1,471 1,461 1,450 1,439 1,429
1% 1,757 1,631 1,569 1,505 1,495 1,483 1,473
25% 1,812 1,777 1,644 1,581 1,516 1,506 1,494
3 1,876 1,822 1,794 1,659 1,595 1,530 1,520
A7x 1,936 1,877 1,826 1,798 1,662 1,599 1,533
5% 2,214 1,945 1,889 1,837 1,809 1,673 1,609
6% 2,177 2,209 1,948 1,891 1,839 1,811 1,674
7% 2,357 2,164 2,202 1,941 1,884 1,833 1,804
8/ 2,377 2,343 2,161 2,198 1,939 1,882 1,831
9% 2,348 2,383 2,349 2,166 2,203 1,943 1,886
107% 2,353 2,350 2,379 2,344 2,162 2,199 1,940
113 2,302 2,351 2,354 2,383 2,348 2,166 2,203
127% 2,432 2,309 2,357 2,360 2,389 2,354 2,171
137/% 2,446 2,436 2,315 2,363 2,366 2,395 2,360
147 2,355 2,453 2,435 2,314 2,361 2,365 2,393
157% 2,394 2,380 2,479 2,460 2,338 2,386 2,389
167% 2,400 2,400 2,382 2,481 2,462 2,339 2,388
173 2,170 2,402 2,392 2,373 2,472 2,453 2,331
18/% 2,461 2,280 2,538 2,528 2,507 2,611 2,591
0~18mast 41,766 | 41,045 40,484 | 39,643 38,797 37,967 37,019
0~5m% 11,194 10,585 10,193 9,841 9,527 9,230 9,058
6~11% 13,914 13,800 13,393 12,923 12,375 11,834 11,338
12 ~18m% 16,658 16,660 16,898 16,879 16,895 16,903 16,623
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